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QUESTION 1

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient. 

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient. 

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient. 

D. EACH statement ALONE is sufficient. 

E. Statements (1) and (2) TOGETHER are NOT sufficient. 

Correct Answer: B 

 

QUESTION 2

In the xy-plane, the point (0,3) is the vertex of a certain right angle. If the sides of the right angle intersect the x-axis at
the points (-4,0) and (b,0), what is the value of b? 

A. Option A 

B. Option B 
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C. Option C 

D. Option D 

E. Option E 

Correct Answer: B 

 

QUESTION 3

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient. 

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient. 

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient. 

D. EACH statement ALONE is sufficient. 

E. Statements (1) and (2) TOGETHER are NOT sufficient. 

Correct Answer: D 

 

QUESTION 4

A certain nutritional study defined the /V-scorefot one serving of a food to be P- Q, where Pis the sum of 10 times the
number of grams of fat and ttt the number of kilocalories of energy provided per serving, and
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